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. The Question Paper contains 150 questions. Section A (Indian and AP Economy) has 75 questions,

Section B (Science and Technology) has 75 questions. Each question carries 1 mark. For each
wrong answer 1/3™ mark will be deducted.

. Please check the Question Paper and ensure that it contains all the questions. If you find any

defect in the Question Paper or OMR Answer Sheet, please get it replaced immediately. The
OMR Answer Sheet is in Duplicate. Do not separate the copies. The markings on the first page

~ will automatically come on the second copy also. The first copy (Original) will be retained by

APPSC for evaluation and the second copy can be taken by the candidate.
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3. Write your Registered Number at the top of the Question Paper. On the right hand corner of
the first page. the Question Paper Series is printed as @ or (B) or © or . On the OMR
Answer Sheet, Side-1 at the right top corner at Part C, the Question Paper Series are marked
as @ © @ Darken the appropriate circle, as per your Question Paper Series with
Blue/Black Ball point pen. Gel pens/pencils are not allowed.

Example to fill up the Question Paper Series on the OMR Answer Sheet
If your Question Paper Series is A, please fill as shown below :

O®OD

If you have not marked the Question Paper Series on the OMR Answer Sheet Side 1 at Part C,
or marked in a way that it leads to discrepancy in determining the exact Question Paper Series,
then, your Answer Sheet will be invalidated without any further notice. No correspondence
will be entertained in the matter.

4. Please get the signature of the Invigilator affixed in the space provided at the top of the
OMR Answer Sheet. An OMR Answer Sheet without the signature of the Invigilator will be
invalidated. :

5. The Question Paper is set in English and translated into Telugu language. The English version
will be considered as the authentic version for valuation purpose.

6. Each question is followed by 4 answer choices. Of these, you have to carefully select one
correct answer and mark it on the OMR Answer Sheet by darkening the appropriate circle for
the question. If more than one circle is darkened, the answer will not be valued at all. Use Blue
or Black Ball point pen to make thick mark to fill the circle completely. Make no other stains
or marks. Using Whitener/Blade/Eraser/Chalk Powder or any kind of tampering to change
the answers on OMR Answer Sheet will lead to invalidation.

e.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :

1 O|@O|®

7. Do not fold, tear, wrinkle, tie, staple, do any rough work or make any stray marks on the OMR
Answer Sheet. Otherwise your OMR Answer Sheet will be invalidated.

8. Do mot mark answer choices on the Question Paper. Violation of this will be viewed
seriously.

9. Rough work may be done on the last page of the Question Paper only. It should not be done
anywhere else.
10. Any type of Electronic Devices such as Calculators, Mathematical/Log Tables. Mobile Phones,
Bluetooth instruments etc., should not be brought into the Examination Hall. If found in
: possession of such devices, it will be considered as cheating and strict action taken.
11. As per G.O. Ms. No. 385, GA (Ser.A) Dept., dt: 18/10/2016, if any candidate attempts to use
any means to cheat/copy etc., he/she is liable for prosecution (Police Case) and debarment.

12. Candidates should stay in the Examination Hall till expiry of Full Time i.e. 2Y% Hours. No
candidate shall be allowed to leave the Hall in the middle of the examination under any
circumstances.

13. Before leaving the examination hall, the candidate should hand over the Original OMR Answer
Sheet (top sheet) to the Invigilator and carry the bottom sheet (Duplicate) for his/her record.

Taking away the Original OMR sheet is a punishable offence.
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SECTION-A
INDIAN AND AP ECONOMY

1. Which of the following statement(s) is/are incorrect regarding the GST Council (GSTC) 2
1. The GST Council is a constitutional body established under .%;rtlcle 269A of the Indian
Constitution.
II. The GST Council is responsible for making recommendatiorgéon issues related to the

Goods and Services Tax. z%
I1I. Every state does not have an equal vote in the GST Council. -
IV. Decisions of the GST Council require a three-fourths majority of the weighted votes

-of the members present and voting.
(1) 1and IV (2) Mand 111 (3) Tand III (4) Only IV
GST 6 (GSTC) & 020500 $08 Heiboiod” 28/ 8y ° 2% P -
I. GST é‘%é D0 L5 W;oﬁoé‘ﬁ) es&z‘a‘eﬁ 269A psedo ?ooiia:&é K4 C?as*’goﬁ B0 "ﬁ
II. GST g“:a“)é Gt SR3Pe0 500050 Ve HIRE JowofodS @2&:@5&33 dFrEnes Babhso.

III. GST TEE D oD B85 L3 SO,
o

IV. GST 508 GBooty, Agoires> TS 3080k .e3of s m% BoaE 268 Teahiot
S Sotion Torr0el 00,

(D) Is0ee IV (2) 11 0ako I (3) 1 00 111 @) IV 37

2. The severe balance of payments crisis, faced by India in 1991 was characterized by

(1) High inflation, low foreign exchange reserves and a large fiseal deficit

(2) Rapid industrial growth, increased foreign exchange reserveé“gﬁ;l a trade surplus
(3) Low inflation, high foreign exchange reserves and a balanceéi_ij%?scal budget

(4) Strong foreign investment inflows, low inflation and fiscal defieit

19916, er58tHo A5 SRS ergBSy ed HRsoed) Bo§ e Bod Dgore SEoed. %—ﬁ
(1) e0f ETserso, 355 D38 Sr08 Dogen $o0a0 28 5 &t

(2) BroBBS FPOEY HB, DO BB Sr0E Jeges So8cko ﬂa@g Do
(3) B BT5emo, BE DB 588 Degeo $o0ckD BTy eﬁgs; aages
(4) 20308 BB Do FEIr0, S (S geso S0k es@ﬁ‘g»
4 (A)
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3. Which of the following statements are correct rcgardmg PURVODAYA, scheme introduced
by the Government of India in 2024 ? _3%

I. The PURVODAYA scheme aims to improve mﬁﬁﬁucture in the eastern part of India.
II. It deals with Buxar-Bhagalpur Expressway. wm
III. New Delhi-Kolkata Industrial Corridor is being d%‘%%loped as part of the PURVODAYA

scheme.
IV. The primary goal of this scheme is the development of Gujarat State. 1‘5[%
(1) L, 1 only (2) 1, 11, I only
(3) 11, 0L, IV only @) 1, I, 1V

f;}ofl‘(} Bob 88’ $OELB DI ¢
HETATTR BotoRBSEto efson

2024 &° 508 (38080 (33 JE s SV B
I r8isab S58o grostios’d S8y @Frogos”
BepEod. 6
II. 38 25,6-5rrKem8 5RE30 Sczofodod. ‘..['3%
MMl $r5¢d-5'Sser FoFs 8a-6 ehB) T8 sBan 558’ grifo.
IV 1oe0$ ovgo o8 B9 Bo7S v§o.
OEAEEE
(3) I, I, IV Somgsido

4. Which of the following statements accurately describe the environmental impacts associated

with agricultural practices ?
1. The application of synthetic fertilizers and pesticides may result in soil and water %
contamination. a

T. Sustainable agriculture focuses on preserving soilhealth and protecting biodiversity.

I1I. Modermn agricultural practices are unrelated to the lepletion of freshwater resources.
IV. Expanding monoculture farming supports overall q‘gﬁsystem stability.

(1) Hand IV (2) Mand IV (3) IandZH {4) Tand II

SO DEBeed’ 30dSE &) B0t PErTesd $o8 8’ D Eiases pBor JSOTon ?
L 2065638 D6a:en S0Bcks LS TG0 S $o00bs V6> SeudbemdS rodabsy.
1, 5030 Sgdraio o essimsRy Sotfotio 350050 BRI SFoBE0D G T B0,
T esGods S5srom oot 5000 35he §rssy pewotio Be.
IV. 3r5end 3552raird) J3dosto Ingo Sogsce @:;sg QU0 BiobELE08.
(1) Isdao IV (2) T oboko IV (3) 13585 I @ 1300000 1 )
5 (A)
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5. What was the primary reason for the current account surplus in Q4:2023-24 7 7

(1) Increase in merchandise exports l (2) Surge imservices exports
(3) Decrease in imports (4) Higher remittances
2023-24 Q4 &° £3085 &5F°0e5 eroe 2oHentd> ErERE S0 I 2

(1) %0 S8 DG (2) 050 JVBSE0, BT
(3) B e (4) @8 3&cpw

6. Post-economic reforms, the Indian economy saw a shift towards

ontrol (2) Reduced foreign trade
(3) Enhanced global integration (4) Declinein private sector growth

0K oS wBosS Seod’, gril eRs 555 God FHH Hged
(1) E8bss daoges VOO (2) 2B% redego BMod

(C0) 55508 gnoostn (hedaoue) ] 4) 285N 56" dos

7. Which of the following statements is/are correct about Foreign Portfolio Investments (FPI) in
2024-25 7
I. The Indian Rupee (INR) moved in a narrow range with-lew volatility despite FPI outflows.
II. RBI set investment limits for FPIs in debt instruments and Credit Default Swaps.
I1I. FPI investment limits in government securities and corporate bonds remained unchanged.
IV. RBI issued an operation framework for reclassification of FPI investments beyond
permitted limits. s
(1) Iand1only (2) 11l and FVonly
I Egi Al the above 1 (4) None of the above
2024-25 & 288 15O 335FBo0eSe (FPT) K000 Eob 35t3508 JB(D) RBHA(ED) ?

“

I FPI ey $6D0:pen (eahedfen) axsyinedd g6 srarown (INR) S55 episd athss

@3S 868cd. _
IL &oes Frgsares S8k Boes oD B (BES &g DSOS’ FPIo 50 exerd S0dousd
[ @808 2575008’ $00ae B0 erogd’ FPI btypadsodudees 3. ﬁ‘%}

IV, 50508005 5820s0e Doows FPI Zaegexi:.@;fo &84 5§§60ﬁw@§ RBIl a5 s-"c‘giﬁée’&
g0 (€338 (po 3&)%0 erd Thod.

(1) 15080k H Somgsd (2) NI S0dake IV SoEsdo
(3) 25Y (4) 23D =8
= E

8. Which of the following is not a method of measurement of National Income ? ‘[5%

(1) Value added method 2) Income inethod

(3) Expenditure method I (4) Cost angi&&ccounting method |}

Bod 736" B sl §O3 3¢50 $0 98 ? ot &

(1) Dens EEoDS 56D 2) sodh 359

(3) 3505 5638 [(3) 255, So0cs w5 oeson ;c@

6 (A)
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9.

10.

llt

Which of the following are the major provisions of the Iﬁausmal Policy Resolution 1956 7
I. Provision of licencing

i : E.:lﬁl
II. Expansion of public sector. %

I11. Emphasis on small industries. #EY
(1) 1and I only (2) 1 and 111 only
(3) Iand Il only 4 LI, 11
FBEE s Boyso 19566°R (EeS Deogsseo 3D ?
I B2y0h ooy, Veoiss.
I g08cBol JRoe.
[ DSy S0ES008 PerSgd.
(1) 1 308a%o IT somgsal
(3) T s08cso I Srgid

The part of investment (Increase or Decrease) which takes place due to change in the level

of national income is termed as E3m
(1) Gross investment (2) Neﬁ;in‘izestment s
(3) Induced investment 4) Autﬁifbmous investment

FOATTA Fond’ KrE) ST wOR HRRd §7F
wosrto ¢

Rroorse S $r550) 2500

(1) 570 dexed 2) 2% Beged
(3) (=08 nexedcs (4) Hao PEIY e

Which of the following statements is False ?
(1) Exchange rate is the rate at which the currency of one country exchanges for the currency

(2) A direct quote is the number of units of a foreign cgmancy exchangeable for one unit of
home currency

[2) wag T0 G0 L8 LT :3@ 555;,5 :mq)""' G mm

(3) An exchange rate regime is the system by which a t:aimtry manages 1ts currency with
" respect to foreign currencies

(4) There are two major types of exchange rate reglme ﬂoatmg exchange rate and fixed
exchange rate

Bob BEtosed’ DB &by ? =
(1) S Beas wod 2.8 B¥o Gk, 30 S8 S¥o cm%?%a‘*\é 578 Beo

(4; S Beo s’ Dotk B EEes G0 ¢ ﬁﬁéﬁoﬁ St Teao Sodaks YO Sruto
Seo
7 (A)
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12. Statement A : The Gol fiscal deficit R E for 2024-25 is 4.8% of GDP: %
Statement B : It is higher than the Fiscal Deficit B E for 2025 — 2026. =

1) Statement A only is correct (2) Statement B on,ly is correct
) Both Statements are correct (4) Neither A nor B 1s correct
BSOS A © 08 (ents R E 2004-25 ©Rs &'wo GDPE 4.8%. o
#5¢5 B : 38 2025 - 2026 B E e85 &6 esoiso 57y 595,

(1) %5 A S-Eab 2338 (2) @Eseos B 5o 5858
(3) Bok SEeSeD agisa (4) A 080w B Sokr 86 &9

13. Which principal methodology is employed by the National Statistical Office (NSO) as the
standard mechanism for assessing and quantifying the uncmployment rate within the Indian

economy ?
(1) Quarterly Employment Survey (QES)
(2) Annual Economic Survey

3) Labour Bureau Employment-Unemployment Survey
| eriodic ur Force Survey (PLFS)

OB S8 S0 DO0B 1B 00N SOoS SALERE 380500 BReNERE erdAD Newo¥

5or5oao (NSO) @ (3578 DGO @rsreds abo@rorion &S@rAigod ? ExE
(1) @ &rg 885 (2356°5) (QES) o &=

(2) 0% Qs 53
(3) B8 a8’ JoroSoBroes-VEsH BBk o
(SODPIS 565 ¥S 956 '53)

Y

14. Which among the fel]owmg classifications of unemployment is predominantly correlated

with the agricultural sector ?
(1) Cyclical unemployment l (2) Seasonal unemployment )
(3) Structural unemployment (4) Frictional unemployment

A& gl Bood), Bod SP8Seres” DB Pedor ; 53“&.:. 603‘1\,&5 Sozotio DA &b ?
(1 aéo:f- :oco&iw
(3) e AT R0 rtta)

15. How does the introduction of the Standing Deposit Facility (SDF) cnhhnce the Reserve Bank
of Indta s (RBI) llqu:dlty ma.nagement framework ?

4) By provndmg long term loans to banks at lower interest rates

% Bl Jrodoh dIrges 2293 (SDF) 3% eexsero gl Besbs ergos (RrBi) (55 0858 Dogares
[0S S55a0E Domyesoso (@é;@ej 33?525330@5 (230538, ) Jer ooy o

(1) ers080h Sss5aé® 3noso (555 gk (D8:8e)) Dot v =
s S e sy e
(3) Fredeyy ergoon @ésc'zefa PN YOI &oisto 7o :
(4) ergotot 355 56 Bt BISDE Here vodoiito oo
8 (A)
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What is/are the goal(s) of SEBI’s new move to introduce T+0 settlement ?
1. To enhance liquidity and reduce settlement risk in the stock market.
1. To minimize counter party risk and enhance market efficiency.

[1I. Potentially reduce the impact of market volatility on settiemént

IV. To increase operational expenses for market participants.

(1) Ionly (2) 1, Honly

(3) LIL 111 only (4) All the above

17.

i8.

SEBI §'g (3382638 T+0 R 2e300el Bg), GBS @géu 5¢3 ?
L (uésueﬁ) ESoBD Doto So0abe T 55TESE" (Re3o0es 0% 3B ESTTrDy BRowo.
. &% omddE?D 386 2§ (Fowonf) HErod) Bhoito So00bo 338 ST onEo.
M. 303Pcd S5 ehos Earard) Soersorr Sfosto. 1 ELiE
EA'A &5‘“@%&5 al’“?’f:%“s'.;il}@ﬁ (ﬁ“g DOE) 3"0’5:‘.5583 PO Dot ‘%g

(1) T8 @) 1 srsds

(3) L IL I s (@) 25

Which of the following mechanisms is NOT primarily followed by the Reserve Bank of
India (RBI) to manage exchange rate volatility ?

) Fiscal f’olicyA justments
(2) roreign Excr_angre: ;eservcs

(3) Market Intervention
(4) Liberalized Exchange Rate Management System

308 Arared® 577018 Bex et AEreseDs deby ergol w zg o8a% (RBI) gigmisor 8%

555850055 7 : 0
(1) 0% Doess Dseren ‘E!%
Q) 208 5008 voges

(3) S35 £%0

(4) SOVEHS SrEsD e Apres 3¢S

What is the significance of the new payment settlement framewmk introduced by the RBI
in the context of the Foreign Trade Policy 2023 ? oy

It dis s the use of the Indian currency in cross-border trade
' (2) 1t aims to encourage the use of the Indian currency 1n cross-border trade

@ I increases transaction costs for expm‘ters

@,53;355) Bt =%m5@ 520637
(1) 28 38580 redessod arodah ssa:‘e«z) ({5550 / 5eayy) ¢ Dy DT
|§22 :émsvg elesgol’ eroBod EBnD &édﬁs”ﬂo&’mﬂm @‘e‘ﬁw&ﬁ&o &, %0

(3) 20 D88 568 Qoo BIVoR Rl i

(4) 30 ANOCHBTEE TR PENOI ToLoBood

9 (A)
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19. Which Article of the Indian Constitution empowers the Central Government to extend loans
to State Governments ?

(1) Article292 ([ (2) Aricle293 ] ©) Agﬁsejie 294 (4) Article 295

oS (SEOTDE T BEOEPO SoETen S00et B BEFE0 RS Terolio&’d D waktEe
8 o (g0 = 5

oo 608 ? ‘

() epsd292 (CD SE0B ) (3) eps294 (4) 056295

20. India’s rank in World Bank’s Logistic Performance Index in 2023

(1) 15 @) 27 38 ) (4) 49
2023 &° (350 ergef $8% Gores 3B 0D (RS 30708, 30aE) & grstEo oo Tk
) 15 @) 27 (3) 38 4) 49

21. What impact does an increase in the GNP deflator have on the purchasing power of money ?
(1) Increases purchasing power | (2) Decreases purchasing power l

(3) No impact on purchasing power (4) Enhances the value of currency
GNP 3505 o6 te Ssoffeo 382 Jeroed (37150 SI98008 ?

(1) Foffas 38D osseod (OS5 sises )
(3) THoR‘en ¥ Sgrso doktd (4) 533 Joos> Toddood

22. Which organization launched the Credit Guarantee Sciiieme for the Livestock Sector ?
(1) Ministry of Finance ey
(2) NABARD

(3) RBI
epartment of Animal Husbandry and Dairying

BHhe Corrdd BdeS mgBoed BTy 2 Soi [ERddged ?
(1) &8 So0@es T
(2) >er

(G e G T e ST -

23. When currency is bought ata lower price at one placa;m the foren gn exchange market and at the

4
wrisl

({1 Arbitrage ) | 2) Ranonalxzaﬁon
(3) Annuity (4) Semi Bombla
DB 5ro5D D563 (S05)E 8T SKS SOH SO Foi'en B, o8 $3oaLos” TE Te

283 (555> DFOODDE TR s PR SOeTED, L %
| 2) Seedsse

(3) SoEss (OKgd) | (4) 2D eroer

10 (A)
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24.

25.

26.

Special Drawing Rights is the currency of International Monetary Fund. This is in the form of
(1) Paper currency m{Z) Gold
(3) Silver and gold both (4) Book keeping entry only |

2388 (@@aooofl Bedy (Special Drawing Rights) ©oBHAL 5355 0§ (IMF) GBaot, (53550 (55
30 D 865508 Sotod 9

(1) SRS 53 (2) worrdo
(3) Sod, wormto Jo&r (4) Qe 550 3370 (208 §08 Joed) S
Which of the following are included in the We Bank of India’s Foreign Exchange Reserves
(FER) ? 7

a.. Foreign Currency Assets (FCA) ~ b. Gold S

¢. Special Drawing Rights (SDR) . d. Reserve Tranche Position ;’jﬁ
(1) aand b only (2) b, ¢ and d only
(3) a,bandc only m the above 1

Besbs a0 e godalr DA S5 ¢55g :)ese:ée (308 3y yoif 0axbs) (FER) 300 738 02
Syeeron ? o
a. DB KOy essgen (FCA)
(X @355 &o0oh 0 (SDR)

% .. d. b erod o

(1) aSoBoko b Sovgsas ,,2{2) b, ¢ S8k d SovEad
(3) a, b 308a%n ¢ S @ >
Which of the following factors could potentially contribute to stagflation in the Indian economy ?

a. High inflationary pressures due to increased Government spending.

b. Decline in industrial production and sluﬁ&kh economic growth.

¢. Decrease in aggregate demand and cons‘u@er spending.

d. Appreciation of the domestic currency léading to reduction of export competitiveness.
(1). aand b only “442) band c only
(3) a,candd only (4) All the above 2
08 738" O seEEren greks e ;’)55§66 :oegé’ss‘.o (:3“5 355) Ertso Iahres ? i%

a. 2OAS HE0Ss S5eio ST ©fs @5“5%@

b. 2BEDE &3S’ §eass SoBaks modﬂo%@ 508 fb%

c. oo &rod obokn IVSTHTBe W S0,

d. 2500 Fedeserd) SRosEE crobins Blanb o) Dass Ko,

(1) aSodat b Somesds (2) b Sodakw ¢ S
(3) a, ¢ Sodakw d ST 4) 33;5&’};

11 (A)
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27. As per the Economic Survey, 2023, which of the following sfatements correctly describe(s) the
trend of Foreign Direct Investment in India ? &
a. It has decreased due to less participation of the private Wtor %
b. It has increased compared to the prepandemic levels. (=
c. It has increased rapidly without decreasing in any Finanicial Year after the telecom sector
was entirely reformed.
d. It has decreased due to a weak global economic situation.

(1) aand c only (2) band donly

(3) a,band c only (4) d only

e 1535, 2023, 5780, GrE53¥0E” IBY B amms@o&ﬁa 808 736 D 35ess(ev)

505208 /ASBTHoR ? Em
a. L;éowf}eS Solfo griidgsogo SESm &oteos 30 Shod. %

b. Broadss Loxned HVY, 30 HORCA.
c. 880 tioﬁc o féo;obao&a&.:’) BSOS D 65‘@_: .voz‘;)éxt‘joéq S Sifsoon SKore 2ORD.

d. awm:f.té (Bon e85 "*&g@ s*Gesorr 30 Shod.
(1) asodboko cSFEd (‘.) b 30800 d Sorsao
(3) a, b 3e0akn ¢ SFED @) d m@ﬁa

28. Which of the following is not true about globahzatzon and 1ts~wlpact on India ?
(1) Tt has expanded trade in goods and services

2) 1t has led to greater flow of Foreign Direct Investment
(3) Increase in exports is greater than increase in imports |
(4) Increased India’s access to foreign technology and investment

50DETE 3o0akw FrUSBECH T (T food 0 T36" I Jeo 6 ?
(1) 30 SpPeo Sodak B TederyR) NYdood

(2) 30 38 3¢ 23500 08 TS oroBRod &

() Bromosos SOoTots Sob JTomios Sooes S i)

(@) rOBGTRE D00 T OSOSS SO0 VRGO BOGoEr R V0008

%

29. Which of the following statements about non-plan expenditures of the Central Government is

t 2
(1) The expenditure is on inierest payments
:;fﬂe CXPCIAITUTC 15 O SCICNCE AN0 (CCNnotogy

(3) The expenditure is on agriculture
(4) None of the above

S0 (080 G308 (exS8S (non-plan) PEnE HGoD éo&@@soé‘ 08 5036 ? %ﬁ
e 38opod

(2) & 5 25 = S5y
(3) S O 5&2’)?3"6&}0 >

@) 332 s

12 (A)
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30. Which of the following statements is/are correct ? et
a. India’s overall SDG score has improved to 71 in 2023—24§QMmkh_and shares the top spot
with Kerala, both scored above India’s overall SDG SCOT€w .
b. In the latest SDG India Index 2023-24, Andhra Pradesh is%ﬁaccd in the “Front Runner”

Category. ££% o @‘;aa
¢. Arunachal Pradesh and Meghalaya, each with scores above 75, are placed in the S@
“Achiever” category.

d. In the 2023-2024 SDG Index, Lakshadweep and Uttar Pradesh scored significantly above
the national average, demonstrating notable progress com‘pa_&red to other states.
(1) a, b only correct (2) b, c only correct
) B Ee VA (i S (4) a, d only correct
$0B 556" $BIB(D) VB(D) ?

2. eroEEEo Sy ngo SDG 5202324 & 71 & 2585808, asopol SwE e

...... :

g | SOSD00, SoGr greadio @, Jnodo SDG 295 5088 I P Do,
-“lﬁ b. e SDG godalr qoaky 2023-24 &, SosBE “Hoes-55,5" 8onbE’ cotiaded.
C. eoETsS (B8 So0aKn Sosroch, eFyEed 75 Kod3 25 @%503 “e59H58” Derred’
€0WENZ O, et
4. 2023-2024 SDG 502E,5', 03B 30cH> 36 (B8 b ew Sod resdasborr e
21,6 Sarom, a6 oged 0 BapSar DEHOD BT,

(1) a,b SrEao 05D (2) b, ¢ SFEALROSD
(3) ¢, d 3G 888D @) a, d 57E3 /D

31. What item(s) account for the differences between GDP at factor cost and GDP at market prices ?
Direct taxes and subsidies (2) Direct taxes net of subsidies

(3) ndirect taxes and subsidies (4) Direct taxes and depreciation
B o 50 58 GDP o 355 S5O 5 wodo(ew) s°8E30 2

2 ‘. .n TP o0y oal e Za
(1) (858 S0 55008 sthdeo (2) D SINASLSE 3520
(3) S5 o0 S00akw N0 (@) PEE SSEm500I SISO

b

32. Assertion (A): Devaluation will lead to improvement in balance of trade.
Reason (R) : Devaluation will lead to increase in price of exports.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
|(3) (A) is true and (R) 1s Talse
1S 1alse a ek EiE

iy,

DEFSED (A) ¢ (5355 Deod BoD Tedey BSB0gH LIS BFOBRR00. w,%g
wieo (R) @ (535 Deoss SA0D JMBE00 (o NG TR0 o

(1) (A) 5:6050 (R) o> desc, 55600 (R) 36 (A) GIo%), 193 ST

(2) (A) 500 (R) Bot> Jezo, 500050 (R) 36 (A) ook, $68 5Bes 0

(3) (A) Do 3000 (R) ooy )
@) (A) Sy S0 (M) v&c

13 (A)
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33. A person who has ultimate control over the affairs of a factory under Factories Act, 1948 is

called .

(1)~ Occupier (2) Manager (3) Chairman (4) Managing Director
F5560 5620, 1948 B0 S0y SEFTED 0B Aot SO &%) 5580 30 Dot ¢

(1) eSr20%5 @) 35308 (3) 355 ol (4) oBeof 2356

34. A budgeting process which demands each manager to justify his entire budget in detail from

beginning is
(1) Functional budgetin (2) Master budgeting
(3) Zero-base bud -et'nb (4) None of the above
(39 SoJes850 83 Boogo wFeSo Jxtsed S0 SO 53G0I Eerges i
(1) 3038 a@ﬁoﬁ (2) 5736 wgedof -
-2 £ 4) :323 50

35. GDP deflator is the most comprehensive measure of inflation as it is the ratio of
(1) GDP at National prices to Local prices
(2) Real GDP to Nominal GDP

(3) GDP at Low prices to High prices

(4) GDP at Current prices to Constant prices

GDP &3606 &30 $oB T3 Wy 5508 00 ((S5gyer0 Bl eigos BIoR0s S0 ?ﬁg
(1) =Bk G55 5 5080k L ¢t 5¢ GDP &
(2) 7555 GDP & 500cko T3 GDP &
(3) 853 G ég Scbake el e ) GDP 8
{4 538 S50 :égé 000 6303 $69 5§ GDP & l

36. Which of the following measures is NOT typically used to correct a dlsethbnum in the
Balance of Payments (BOP) ?

(1) Devaluation of currency
(2) Increasing import tariffs
ﬁmwuciz}g government spending on domestic projects |
Encouraging Foreign Direct Investment (FDI) »
3DoPw 583y (BOP) & enissotiongisisy 30305008 3o Teds biﬁ‘;_é“csvdmm gﬁ?
GIBIRoTCED ?
(1) 02 Jeos Bhod
(2) B Booses Dosto
(3) 33 @‘@.5{“}@3& Fejavy ﬁé@%ﬁoﬁﬁo
(4) D33 5y veyercionso (FDI) Ssyirosto
14

(A)



37. Which among the following statements is correct ?
(1) Balance of payments includes current account and capital account
alance Ol payments includes o C .

(3) Balance of payments includes only current account _
(4) Balance of payments includes only export and import acctmnt
s 808 SELS08” D8 B30 ? :
(1) 3809 508 %5ces 5 S0 $058 9 oo

5% b
3) B\JO:J_) B8 K3ots o ;.sr@:ofn &0t008
4) 3% 23"5615‘3656 MOB0B 3o00K0 AIHIS gre ;‘m@’eﬁa e@g;oa

2G/202

(3) (A) is correct, but (R) is not correci
(4) (R) is correct, but (A) is not correct

TES(A) eewo:b sTraho sosé w88 soraires «36323@@

830 (R) : 20 escrafres *‘%5 2508 oD ). sy

[2 ) (A) 308c50 (R) Botsr 5352 5500050 (R) 938 (A) G30o% 68 Do
DRENESS Mmmw
(3) (A) 3858, 5 (R) 880 s°60 e
4) (R) fogasa 50 (A) @Qaa et

39. Match List — I with List — II and choose correct answer. (Common codes for English and Telugu

Versions) 2
- List—1 % List— 11
a. Monetary Policy (=l i. Tax Rate
b. Trade Policy ii. Margin
¢. Credit Policy iii. Imports and Exports
d. Fiscal Policy iv. Bank Rate e
rder ~ 12 ewdor — 1 § aS560 835 $5re) Jotisod.
AT R | wior -1
a. (53 :3@:;0 i 35850y Gead
b. €3& Jed =4 E i, 378
c. BAeSFeb E’.}ﬁ ifi. SXOBSe0 S50 n’)?b;bﬁ:}w
d. &Qs dgso iv. ergo§ 3¢S
Codes/S*Ges : a b ¢ d

(1) v i i 1 ]
{(Z) v i 111 1
3) i i 1 v
{4 i i v iii
i5

(A)
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40. The situation where a country simultaneously imports and-exports the same product is called

(1) International reciprocal trade (2) Intemal reciprocal trade
(3) Factor reversal trade (4) lnuﬂ-w!?ﬁdustry trade
25 Do DEood 28 é:B0 HIoxd T 3000k I  BEB) B § R B0 ?
(1) wo8TBAH 565 36&50 2) &Aége‘;‘a SEG a‘ozﬁasﬁo
3 3 55 836y @JE (4) RoEr- aocifﬁ 3G
41. What challenges does India face in managing its oil consumption ? %
(1) Lack of domestic energy demand

Consistent global oil prices
l (3) Supply chain disruptions and fluctuating global om—
UNGANT O1f TCSeIves EiE
550000 DEFTY DogLroieics’ groBtEo oo BT o pe08 P g__}ﬁ
(1) BB 05 SsSrok IS0
(2) 250 eoSTrdaH SB0te Foeo

(3) JTHoe Ko (33 5@5} soSoralres S00akn wod 5(1‘1. 5008 e m:ﬁ%&@m

(4) D[yporr Wi M.S\Jo

42. Under the Industrial Policy of 1991 '
(1) The mandatory convertible clause is applicable to all term loans
(2) The mandatory convertible clause is applicable to term loans of more than 10 years

(3) The mandatory convertible clause is applicable to term loans of less than 10 years
¢ mandatory convertible clause is no longer applicable
OF°L5 D00 (95700 '

(1) SIS0 £:588 Dwolsss ey &5 &St 58:3008
(2) BV E3cRend J2ogs 10 ooée‘ﬁac"e 5083 D55 by 'S0 38R0

3) 528 S 5 Deois 10 HoSore 8ol $55:3 88 &'do 38yl
(4) SDN00 55:Qew DR0GS 38 00D '

43. Which of the following are used for measuring of the high-power money supply (H) by RBI in India ?
(1) Currency held by the public + Other deposits with the RBI
2) Cash reserves of the commercial banks + Other deposits with the RBI

(3) Currency held by the public + Cash reserves of the commercial banks + Other
deposits with the RBI

(4) Currency held by the public + Cash reserves of the commercial banks + 1ime deposits
of the commercial banks + Other deposits with the RBI HE

FrESB¥E’ QE-358 50 83 (H) Gk, Fosé” RBI 80 &5a3rdod ? g'@
(1) Peo 55 &) o + RBI 3¢5 &y 3658 A

(2) s’sﬁ%cm th Degeo + RBI 56 &5 qéo éﬁ»ss..n

(3) Peo 3G &y 53y + NS ZRE‘JQ ergoloe SN0 Jegeo + RB] 3G & B0 Gt

0 203 Cardy y o0 R ﬂ&gw:mrem D +
RBI 56 &3 306 A u

16 (A)
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44.

4s.

46.

Which of the following reforms have ccmmmd to the improvement of the Ease of Doing
Business in India ? 00
(1) The introduction of GST (Goods and ﬁiccs Tax) \E%A

(2) Removal of all foreign ownership restrMns 10 Indian companies

(3) Nationalization of all private banks e
(4) Expansion of public sector enterprises into new sectors

P558508° TS0 Babto Soogisse Banmdd @od sosPnd DB Sirendod ?

(1) GST (3Peo 5000300 D30 550 (3% Degerioes
(2) grodad > Eon008 oy B3 Qs B8 o Sohostio
(3) e @ DS ergetoe w%wé&je‘

(4) RSB vogess 58 SorrS’s ar.sao::s&o

There is no GST on which of the following "

i. Petrol and Diesel ii. Liquor
ii. Electricity supply to consumers iv. Services of Charitable entities
(1) i, ii only (2) i, ii, iii only (3) i,ii,ivonly | (4) All of the above
o8 738 3¢5 GST 8¢ ?

i DeSen Sodoso &8 @:&y *“ i, %S /85500

iii. DIDFHT oL oS S T v, oy oo dised
(1) i, ii S8 @) i ii, il S @) i iverg [ @) D

Assertion (A) : India’s real Gross Domestic Product (GDP) grew by 8.2% in FY24 despite global
and external challenges.

Reason (R) : The focus on maintaining macroeconomic stability ensured that these challenges
had minimal impact on India’s economy.

(1) Both (A) and (R) are true and (R) is thdc;orrect explananon of (A)

(3) (A)is true, but (R) is false
(4) (A) is false, but (R) is true

(55655 (A) © (95035 BB erry B0 esyonedd FY24 & erssds 595 GDP 8.2% 20000,
530 (R) : 570 e85 6T S RoNEo csqﬂéqégaomo S0 Be DT GRS &Py S%EIP
S5 S Seray oo, e @i
(1) (A) 598050 (R) Bosr Jeso So8ao (Af%& (R) :::a:a DS
(2) (A) 2080580 (R) Bodir Jeso, 50 (A) §3{R\) 3BS Z);’:dsa L
(3) (A) deo, = (R) 85y - e
@) (A) 85y, 50 (R) o

17 (A)
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48.

49.

Index (MPI) ? &l ﬁil
(1) Planning Commission (2) NITI Aayﬁ éﬁ
(3) Reserve Bank of India (4) Mimistry of Finance

32338 509830358 35§ 30a8) (MPI soisar Sa0EdS D oS Soi ergssirined 2

(1) Rerds Sodoe (2) NITI SaTh

(3) 05 ergol &) godale (4) 88 So0@8; Ty

Assertion (A) : The Indian economy demonstrated resili_fnce despite global geopolitical
challenges.

Reason (R): India’s fiscal and monetary policies ensured economic and financial stability
post-COVID.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

12) BOIN (A) and (K) arc truc, but (R) 1S N0t the correct explanation of (A)

(3) (A)istrue, but (R) is false

(4) (A) is false, but (R) is true :

535 (A) : (3303 RS el Bare &5y 5138 708 ey ;’15:.)48 ROLBESS0 3660000

=oeso (R) : groS0¥0 GRol) &R So00k0 (5355 dgares 595:35 w & 5B 5000k (5355 @__ﬁ

REE° DTBOTOw. o]

(1) (A) 5800 (R) Botir 585D 3000k (R) 36 (A) @aog) BT 25062

ER—

30X (R) Sode> 5839, 9 (R) (A) 0%, B33 238 570

(3) (A)%0, 59 (R) 83y

(4) (A) 8oy, 5 (R) 56

What was the purpose of the 49 fine-tuning operations conduatt_;d by the RBI during FY 2024 ?
(1) To tighten liquidity conditions
2) To ease liquidity conditions

(3) To maintain liquidity conditions in alignment with the monetary policy stance

(4) To increase the money supply

FY 2024 & RBI 3 2tgroseds 49 35 exryDofl esdss aa;ag %}E
(1) (5588 S0 5835860 a0

(2) (B358g QT DOBSo S

(3) BI58; IS IPOS wBoIbEON™ (G358 SOYTGL MOSJOM 23

23y ROPTX DOVEWIS
18 (A)




E@ 2G/202

50. Statement A : The RBI announced a temporary I-CRR of10 per cent on 10 August 2023. 0
Statement B : This action impounded about Rs. 1.1 laklwres from the banking system. 9}
(1) Only statement A is correct {fzé
(2) Only statement B is correct ey

(3). Both statements A and B are correct

{ oth statements A and B are mconect _

a0 A L RBI 10 esfig 2023 & 10 280 Wg@gl -CRR Q &35e3otiol,

TgamsNo B : & 58 o rso8cf S5 B0l B8 X 1.1 %s“eam Fsfiso TN, “f@
(1) wrgargso A S ¥380 e

(2) TR0 B S cu;f(}& £33
(3) TggrgTres A Sobaio B 3oy *é?_:é:)

3&%@‘

17

(4) argoreo A 5000k B Bodr 5850 £

51. Statement A : India is the largest producer of milk.
Statement B : India is the second largest producer of fruits, vegetables and sugar.
(1) Only statement A is correct
(2) Only statement B is correct

(3) Both statements A and B are correct
lz_; Both Statements A and b are mcorrect -

T A 1 grEslEo w8y Tro abydo. E]“'E

ganse B 1 grosdyo ok ¢d by Dot ErEmaibes H0a S8S af 8o, o

i

°§‘*§

o

(1) 3533“5359 A S 2050

S %

o Bt § P
Gt Gl

(2) wgrgso B B0 @30 SBHO

(3) Bodo TgprgTres A SO0 B :3?:633

(4) ol Trggrgomey A $00ci0 B 885D 579

52. At what subsidized price per Kg did the Government introduce “Bharat Rice” for selling through

NAFED, NCCF and Kendriya Bhandar ? o

(1) Rs.2 (2) Rs. 29 (3) Re. i?f’a {4) Rs. 12

NAFED, NCCF :508a%» Soa goad orgor :Jgom;swmé Bgbo ‘ered o8 D S8 O vind
G588 B30 2 “

(1) Rs.2 (2) Rs. 29 3) Re. |l {4) Rs. 12

19 (A)
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54.

55.

Which initiative was launched to provide a tap water connection to every rural household by 20247
(1) Jal Jeevan Mission (JIM) (2) Swachh Bharat Mission (SBM)
(3) PM Poshan (4) AMRUT .

(58 raoes 30638 2024 57638 Hwrow 3 ERES odosE s*c&s@éo Eroodosedod 2
(1) &0 T oot (IM) (2) %53 568 28S(SBM)
3) PM 55 (4) AMRUT (3538)

Match the sectors given in Column — A with their corresponding Gross Value Added (GVA) Growth
Rates given in Column — B (Andhra Pradesh Advance Estimates of 2023-24). (Common codes for

English and Telugu Versions) o -
- Column - A Column - B - ;%
a. Agriculture and allied activities A. 521% &@
b. Industry B. 8.02% e
c. Services C. 1.69% &0
A5 FoobR) 2560, 1d Teb’ T Sowohs (Sogids 2023-24- 808k soire $5°50)
GVA 50 S0 563 Feyod. B3
Too—-A Tee—-B %
a. SgIralbo B0y eNowed SESTTe AL 5.21%
b. 0@ B. 8.02%
c. v oo C. 1.69% 3
Codes/S*Eex : a b ¢ e
Coc 5 3 -
Z2) A B < 5
(3) B A &
4) C A B

Statement A : All India Per Capita Income for the year 2023-24 (PE) is estimated at Rs.1,84,205.
Statement B : All India Per Capita Income given above is lower than the Andhra Pradesh Per
Capita Income for the year 2023-24 (AE) (at current prices from IDM-iS to 2023-24)." Zi]'
(1) Only statement A is correct b
(2) Only statement B is correct
oth statements A and B are correct ]
oth statements A and B are incorrect -
Tgargo A 1 2023-24 $03&0°R8 (PE) 30080 gr68iiFo @), $oikd esarako 8. 1 84,205
solar Iobedod.
Tyargso B 1 D Jngo grodtiEo $ukd emraio, soEts 2023-24 (AE) S50 esrrabo 5ol 853
(2014-15 c‘éooé 2023-24 555 5308 $Oo @s°do).
(1) Tgargse A So°Esads VN A Gn
(2) Tsgrgso B S 3858

%m TP es A 00 B RS0 )
DS FICD D

- -
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56. Statement A : Andhra Pradesh ranks 1* in the productivity of Oil palm in India. El&[E
Statement B : Andhra Pradesh ranks 2* in the productiviﬁ;n of Mango in India. I'Ei%
(1) Only statement A is correct )

(2) Only statement B is correct :

(3) Both statements A and B are correct

b 2

(4) Both statements A and B are incorrect

TR0 A roB5E08" esond D3> &TNSESS” oGS ogo 13 i{;éoé‘ &0B.  EIE
Tgargo B : groat¥od” Srod Sog é@bciééés &50@@%% ,f:s"?&o 23 @;55068 &oh. ‘E'];l%
(1) Tgargso A SPE> SBS6 o

(2) T5grgso B SrEdh 5356

(3) Colo Tggrgores A blalovtbl ) :-ﬁga’ﬁ) '
(4) oo Tggrgorew A 3b6cin B ;5:.6&;533 §50))

57. How many Rythu Bharosa Kendralu (RBKs) has the Government of Andhra Pradesh established
according to Socio-Economic Survey of Andhra Pradesh 2023-24 ?

(1) 10,778 2) 1,104 (3) 33,120 (4) 53,580

P JESDE 5By 2023-24 (55750 oSS 800 3 D 45 Toross (RBKes) Domes
gl

(1) 10,778 (2) 1,104 (3) 33,120 (4) 53,580

58. As per the second advanced estimates of National Statistieal Office (NSO), MoSP1, GOI, what is

(1) Agriculture-36.19%, Industry-23.36% and Sewices—ﬁﬁ%%
(2) Agriculture-23.36%, Industry-36.19% and Services-40.45%
(3) Agriculture-40.45%, Industry-23.36% and Services-jﬁ.lg%
(4) Agriculture-26.19%, Industry-33.36% and Services-40.45%

] 55 (3808 erdaD Nero soreaio (NSO), MoSPI 8o w0ty eoiire {50 2022-23
%ﬁ:&o&@awﬁg RS Se 5 eso595E GVA & 3¢ Sorre griio Lo ?

(1) 5559ci00-36.19%, SOFS0-23 36% 500050 Duos-A0A5% |
) 5550 %023, 36%, SOES>-36.19% 53005 D5eoa0a3%
(3) S55c00-40.45%, SO#:3-23.36% 60 Heo-36.19%
(4) 355c00-26.19%, $6(50-33.36% S0 555500-40.45%

21 (A)
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59. According to the report on Relative Economic Performance of Indian States (1960-61 to
2023-24), prepared by Economic Advisory Council to the ?M, what are the individual shares of

Andhra Pradesh and Telangana in the National GDP in FY 2023-24 ? ‘@ﬁ
1) A.P.-4.7 and Telangana-4.9 (2) A.P-4, 9 and Telangana-4.7 &
elangana-5.1 (4) A.P-5. {and Telangana-4.5

RN esggm,ss o058 SIS Do BBID K8 200G &P o8ALS 3¢5y (1960-61 00d
2023-24) J30% s°C0 2023-24 SoN $058 508" erdA a?&aé‘ SOSHBE SsBck0 Boorres oo
S5818 Trer a°80 208 2

(1) esoGEte-4.7 Soban Bwore-4.9 (2) oERa84.9 300 Boores-4.7
(3) eoBEsBE-4.5 300k Beorres-5.1 (4) eoPEpdess.1 S0k Suorres-4.5

60. Statement A : In AP, capital expenditure constituted less thanl 5 per cent in the total %
Government expenditure during 2016-21. ' (=
Statement B : Capital expenditure reflects the State’s commitment towards infrastructure

creation.

(1) Ais true, but B is false (2) Ais false, but B is true
mre true (4) Both A aad B are false

%esS A 1 eso3BE6” 2016-21 o655 Twos” oo (SgLB; oS Soredss Ssabo T

15 380 S0l BT &ol.

@563 B : Sore6is Sgaie STOF G aire Sy 56 TR Qugeds (000DRg00.

(1) Adewo, 0B 83y (2) A &3y, 0 B o

rmmzoay DE0 (4) A 508050 B Bot> 8%y

61. In the Union Budget 2024-25, the GOI has promised funds ta the following industrial nodes as
part of the development of the Vishakhapatnam-Chennai and Bangalore-Hyderabad industrial

comdors -
(1) Kopparthi and Orvakal 2) Ch:ttooﬁ%h{i Donakonda
{3) Orvakal and Donakonda 4) Kopparﬁgraand Chittoor

Sois exgeS 2024-25 &, DTPIENO-TF) o0 BoRETFEI-ECerd FOFASE SET0 ($OEY)
DHRE ePHRS O FHF A T, PO DHEbSe ePY B0 wodiod ?

(0 F58 5580 653 (2) DETES B0 STl

Andhra Pradesh in FY 2024 25 is esnmated as
(1) 31.46% | (2) 34.14% l (3) 33.?1%;\':‘__- (4) 32.60%

LOEIHBE w@es 2024-25 357050, 2024-25 &S RoSBS 036 GSDP &gty oer TG0
[ BoST* I8,

(1) 31.46% ) 33.13% ] (3) 33.71% (4) 32.60%
22 (A)
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63. Match the following Central Institutes established under the A. P. State Reorganization Act, 2014
with their locations. (Common codes for English and Telugu Versions)

a. Indian Institute of Technology @ i Kurnool
b. Indian Institute of Management Eﬁ% ii.« Tirupati
c. All India Institute of Medical Sciences iii. “Vizianagaram
d. Indian Institute of Information Technology iv.%%;ijayawada
e. Tribal University v. Vishakhapatnam
SOGPEBS oF @55553&2%& S0, 2014 @OCS Q@D@aﬁize;é & §ob BoBah Hogess T Fes
200k, s -« if,}_
a. podohd gy el &b Ssved e
b. 30Aa0S afy xS e o8 0es :
c. &8 0G0 3, el &9 DESS B iii..;:':%i?soboéﬁéo
d. odans 3l Lrses e 35\GRS Ssed iv. Descfseres
e. AdexS MHgAorgocio V. DTPBEN0
Codes/S*Geo : a b c d
(1) i ii iii iv
2) it v iv i
3] ] v T v
@ @i iv v i i

L8 %
64. Which of the following is not correct regarding the railway project under Central Assistance
approved by the Union Cabinet for Amaravati in Andhra Pradesh ?
{1) The proposed railway line is between Errupalem and-Nambur
(2) The cost of the project is Rs. 2,245 crores for 57 krg,t
(3) The line passes through NTR and Guntur Districts in'Andhra Pradesh and Khammam
District in Telangana

(4) The proposed time line of the project is 6 years

SOHESE% e §%0 Soits Sr0BB5o eBrBoNS Sois HFabo $od B8 BN Sowcdod
DR L@.oa 36" DB BB S T 9
2) & @»@g; 555021‘30 57 86" et 6, 2,245 ey ©

(3) %3 BS SOGEBIER IQeb S0 KotaTsd m ?,Jo&oﬁ” S5o8ce Boorrnd’ $550
82 Ioow® $hesooty

@) ES POTDS oSN 6 SISO e

23 (A)
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65 ‘Match the following minerals (List = 1) with the erstwhile districts (List — 1) where they are ..
predominantly available. (Comzno%ggdes for English and Telugu Versions)

List 1 4 E"{g List - II
a. Apatite Eg:%i M 1. West Godavari
b. Asbestos ~ii. Nellore
¢. Ball Clay iii. Visakhapatnam
d. Mica iv. Kadapa

SoB PReresy (e — 1) &2 EEel oo e a?e.g:e;@g (e - 1) $0PFeyod.

- wdo-1 edoe 11
a. &3S Zf i, B8 Forsd
b. .&é@@zﬁ 5l @iﬁ ii. 23@3:&)
c. w63 M iii. DEpenc
d. s v, 8835
Codes/S*Eeo : a b %?: ¢ d

(. 1 vEMIQ ® i

o) TR T

Gy i v 0R &

TR e

66. Which International funding agencies comm;tted to ﬁmd the Amaravati Capital C:ty ?hasewi
- Beveioment in Andhra Pradesh 7 @5»‘% b
(1) World Bank and IMF
(3) World Bank and JICA

SOREEE eSoRd sphad 268

(2) World Bank and Asian Develﬁpmem Bank

S 33«.'33@;3 mw@% eofsBods boacg&m Dtz

SBdyes 9D 2
(1) (%05 ergo $o000 203 r- 2) (ot ersot S0, SO wéas“}g P
(3) (0% ergoks SoBak BE (@) B0B ergets 500k OB Dok Eomw

67. Wh;tch external fundmg agency is supporting the Andhra Pradesh Integrated Irrigation and
Agriculture Transformation Progcct"?%

(1) IMF {2) World Bank J
(3) Asian Development Bank (4) European Commission
esoEsBE 20ABE RERSE HOB B ar 3056 SREL 505 et Do DB, Hto
(1) IMF (2) 550 oot
(3) ehasr ehHY oD (4) B Hcios 2080
24 (A)
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68.

69.

Match the following irrigation projects (List - I) &}‘“{h the rivers on which they are located
(List — II). (Common codes for English and Telugu‘?\fersmns)

: List - 1
a. Somasila reservoir
b. Thotapally project i, ,?e;ma
¢. Annamayya project iii. Manneru
d. Rallapadu iv. Nagavali
B0b DeI>Hse FEYo (rdo ~ 1) 5eds uoa}&@bi)&’) 5008 (23“53@‘“ - 11) 562F 0.
w1
a. fode @23{?3\,&}5
b. Sensd &as e
C. @SoaKg ¢ r’w@é @’ég
d. ogres
Codes/S%Ges : a b ¢ d
(N i i iii iv
) i iv iii i
3y i iv i iii

1 v i i

Assertion (A) : In Andhra Pradesh, the coveragé Of farmers under Pradhan Mantri Fasal Bima

~ Yojana has been increasing over the years.

Reason (R) : In Andhra Pradesh, significant crop losses occurred to farmers due to extreme weather
events in recent years including floods, droughts and cyclones. El0E

(1) (A)istrue, but (R) is false:
(2) (A)is false, but (R) is true
(3) Both (A) and (R) are true, but (R) is not the g}sgrect explanation of (A)

(4) Both (A)and (R) are true and (R) is the correc{ explanation of (A)

PSS (A) + SoBEBES BEusod sd B Gres §ofs S8 €588 VoSS TR BENLET
Sfob.

oo (R) : SoEBE5" 5350 505810708 566500, 5000 $08ctin $07500 S0l D568 Trorssn
Sosotae UG Bt RERALEND Sot ST PoroTro. _

(1) (A) Do, D (R) 85y o

(2) (A) 85y, 2 (R) Ao ol

(3) (A) 508050 (R) Bots> deo, 50 (R) &30 (,aég 535 D30 SE

(4) (A) 5855 (R) Bosr ue, 30 (R) GO (A) a3y, csass e

25 (A)
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70. Whjch is not a correct statement regarding Rytu Bazaars in Andhra Pradesh ?

71.

Rytu Bazaars were established in the year 1999
| (2) District Collector is the Co-ordinating officer of Rytu Bazaars
u Bazaar 1s managed by an Estate

(4) The prices in Rytu Bazaar are fixed aiming to be around 25% above wholesale prices and
25% below the local retail prices

SOREBEE"D Do RIS Boeodod o TG D6 BB @S o ? %

(1) B 2t 1999 & Fdosearan o

(2) 380 e 330350 9350 & 5356

(3) 3 223 IG5 BT AR

(4) 38> werbE GO0 70 (0 o 25% Ky SoBAkD LS 8BS Gt Koid 25% SyST
&l 655059 AFossoseEEra .

Chadalawada village where a Cattle Breeding farm is established under Gokul Gram Project under
Rashtriya Gokula Mission belongs to which District ?

(1) Guntur [(2) Prakasam "| (3) Nellore (4) Srikakulam

p ;ggi: §§Je mﬁsgm RS angs% @»ag Bots 3% &5y F0 (5638 Do Fo0) Doyt Dabeds
oG (T3500 © B JoBS

(1) Hootarsd (2) Ss¥o (3) Sz 4) =
72. Match the following Special Economic Zone Productiofi Units in (List-I) with their locations
(List-II). (Common codes for English and Telugu Versions) BiE
List -1 List — 11 "%
a. Divi’s Laboratories Limited-Pharmaceuticals i. Nellore &
b. Parry Infrastructure Company-Food Processing ii. Kovvur
¢. White Field Paper Mills Ltd.-Writing and Printing Paper iii. Kakinada
d. Indian Farmers Fertilizers Co-operative Ltd. (IFFCO)— iv. Visakhapatnam

Multi Products
Bod B8 0K okeres’ &g Soprei (erdoe-I) e % B8 (erdoe-1I) 36Ferd.

o -1 o - 11
a. B 85505 d3E 3‘5&31)‘5&3555 L. SarH
b. 350 ader 350 $ou-HE Zdboh i, Sy EgE
c. DeSOG 28 Doy BWBE-Be3oh 0k Poedofl 136 iil. s8> m
d. godas FE5) PRBeb, §-es:58e35 OBE. (IFFCO)- iv. DTPBENO
WY édBoed
Codes/S*Een : a b c d
(1) iv iii i i
(@ o A §-¢30)
3) 1 u v m
4) i ii il iv
26 (A)
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73. Which of the following is not the target of AP Electronics Manufac;unng Policy (4.0), 2024-29 ?
(1) Increase production in the State to USD 50 Billion
(2) Attract investments worth USD 10 Billion

(4) First ime entrepreneurship creation o $

Bod ¢3S’ DB AP Denf;g?()ga SrRgrsoon Fow (4.0), 2024-29 o550 S ? E;%%
(n O‘Qp@e cse‘.fgegﬁ USD 50 ﬁ@d’i}c‘gﬁ: VOWEO

(2) USD 10 D9an DendsS Depatieos esfodto

(’I) A0 5 ofp 50088 &0 s‘ea«aﬁ

4) S’ o0 2 offo &’Jﬁi’)ﬁ%ﬁé ﬁ]

i
o W

74. According to AP Industrial Policy (4.0), 2024-29 one of the follo{;;ing statements is not correct
with regard to MSME sector in Andhra Pradesh.

(1) AP accounts for 9 lakh registered MSMEs as on February 2024 according to Udyam data base
(2) Majority of the MSMEs are concentrated in service sector agcounting for 79%

(3) There are 28 exclusive MSME parks in AP
(4) The MSME sector is contributing 33.5% of GSDP in AP
AP 025 Do (4.0), 2024-29 (35°C0 SoSEBI6 MSME 565“:}% 5080800 b s;%%
BEesed’ 20 $B50 T

(1) ecsgao uwéia B5°80 HEsd 2024 ¢33 AP &° 9 ofo S3r0S MSME OO G0N

(2) MSME o8 D% gPKo (79%) Ssrdoiios” 3085530 o

(3) AP& 28 Laé'%gé MSME J&e0 &omomw '
m E Solfo @o&og arer 33.5%

75. One of the following is not the standard incentive to the industries offered by Government of AP
based on the AP Industrial Policy (4.0), 2024-29.

(1) Decarbonisation subsidy up to 6%
(2) 100% stamp duty reimbursement on purchase of land and lease of land/shed/buildings
(3) Reimbursement of 100% fee charged for land conversion -

[ (4) Maximum capital subsidy of 15% of F Foreign capital investmient ]

EEE AP 383208 I5°50 (4.0), 2024-29 Hs°0 Eo8 T3E° 06 AP L::wéésc ROESeDH wobod rure3s
ﬁ% @PoryrEo 5°E0 ?

(1) AsgRBERS BB 6% S6H
(2) gD Foffeo S0 gD/ /4o derd 100% oS Grsed 807 3Qoid
(3) ZDo SPBYE D IPordS oS 100% S0A 3o
[(2) D08 SoToms Denend. ROROMT 15% Sor0%s SEhe )
27 (A)




SECTION-B
SCIENCE AND TECHNOLOGY

76. Wi}at is ahe pnmary goai of indza s Nat;onal Clean Energy Fund (NCEF) ?

%) Tncrease consumption o FriE
(4) Improve forest conservation practices

588 B 85 3§ 308 (NC EF) e 80K oFso0 5203 ?
§)) eﬁ”rg{ &@6@ aca:zgcs a&@*"

(4) @8 SobEe acgmezss RIS

77. National Green Tribunal (NGT) was established to
(1) Monitor industrial pollution levels
2) Enf'orce emission standards for vehicles

fm&ié 5\5 @a,e;xaé (NGT) scss§c
(1) FO@RE sPepy Taness So5RgotEo
(2) FTETT o5 &S PITErOS e50e0 BARES

(B)_Dorgste 2055 H0di sPest Jaibonth Honofows Sooi S8sdoiio )

(4) S00d" Jed TreagBsn DoboBoiito

78. Match the pollution type with its major source. (Common codes for English & Telugu Versions)

Pollution Type EuE Major Source
a. Air Pollution % . Sewage ¢
b. Water Pollution C I Industrial emissions.
¢. Soil Pollution HI. Use of chemical fertlhzers
d. Noise Pollution IV. Construction actwim:s
ooy 0570 o FE°S Soreod’ S0Per0d.
el O30 A BTSSP
2. TOLO SESO % L sootiord Do (53£)
b. e sreno II. Zro@do8 acroren
c. Jo seogo I S3rass 5o ;so%ﬁgo
d. ¥y seudo IV. doyes s=£5§§e?é‘°e:o
Codes/S*Ees : a b ¢ d
] | 11 v I
i @ I 1 11 IV ]
3) i i1 I v
(4) A | I I
28 (A)




( 1) Com;}estmg
(2) Incineration
(3) Landfilling
(4) All the above

'wa /)7

(1) BoFRoh (STEuos Ky o) Scird Do)
(2) 8530

(3) o50BB8R (S5Tss Kotwed® rt)to)

adaded B i
S

80. Which of the following is the primary goal of India M _nﬁicipai Solid Waste Management and

Handling Rules, 2000” ? o
I (1) Promoting waste segregation (2) In ing waste generation

( educing waste recycling wndﬁilmg

POSBYo By, 500 DE 39 2383006 mm
%50 Léo& ;"e?}ég 087

(i) Increased pestac:lde use
(2 Hi her crop ield’s i‘n aﬂ*ewdiﬁ%s

(i) @Cﬁammocsom TEEe aooole
(2) e oafsg;meaesﬁ @O Bot> Bed

(3) SRS o Slftoo SodAn Jo &5 g0 Mﬁxﬁé&o
(@) (o™ 700 GETOPe0 HONGO

82. What is the primary source of air pollution in Indian cities ?

(1) Industrial emissions (2) Agricultural practices
(3) Residential waste burning | mobile emissions
erOBAD SHoE TOH0 SRS HE Soreo D oea e

(1) JO@AE aioew 2) 5
(3) IS Syged seytc . (4) oo (e53085) aow
29 A)
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83. Which of the following is NOT an example of a bioremediation te@l}mque ? J
(1) Oil spill clean-up using bacteria &

52! UsmE Elams to absorb Eollutams

l (3) Burning contaminated soil
@) C omposting organic waste L
EoB 7e3E 20 wBTOWATRS 3OS &0 S ?

(1) 2sR0arss SOCITAcD Dol S¥odR Hgssste

(2) ey sUzeie Soloterds Jogps aidriodto

(3) Seouuaos Sl s G

(@) PoBam S5gos Sodiy SaN0E0 g

iy,
|
by,

84. What was the primary purpose of the Air (Prevention and Control qfé%oliution) Act, 1981 ?

(1) Control air quality standards (2) Regulate vehicle.emissions
romote renewable energy sources {(4) Reduce use of chemical fertilisers
TP (SPensg VarOey SoBAS JCiboses) Deze, 1981 \Zb.,:, PG m@%o o3 ? @ﬁ?

(1) & Treagd BETerods AadboBodco (2) TS &Toe K)Oﬁ:@(@cmc&c
(3) DB 053 33Hes Fdyroste (4) STy 6 %o sosscio

85. Which of the following government initiatives aims to control ;n(igsglal emissions in India ?
(1) Swachh Bharat Mission o

{2) National Clean Air Programme (NCAP)
(3) Pradhan Mantri Ujjwala Yojana

(4) Atal Mission for Rejuvenation and Urban Transformation (AMRUT)

@.&.u POEDHED & 808 (50 STpEred’ D6 FOFE STrTetd M@@ci‘s&“éﬁé aBotedion ?
(1) &% er8S :l"“_‘_s

(2) 3556 88 b @S> (NCAP) _
(3) BEsso® Gexe Bres (0
(4) DIBFII0 So0ak e SO S0 w66 B (w30y5)

86. Which of the following is NOT an alternative to conventional pollution control methods ?

(1) Green technology (2) Bioremediation :
(3) Carbon capture and storage { (4) Incineration of-‘;ﬁf?ste
808 38”08 roporah SPeuiy Faioes HFBoDH HErgRiTae ’;"’z’:u ?
(1) AS Ssyedd (2) BarEERE
(3) S"’Cﬁz}ﬁ Soyisres SodAL Jog l 4) :JEO:S}FJJ TP
30 A)
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87. What is the primary environmental concern associated with Genetically Modified (GM) crops ?
(I Cross-pollination with non-GM crop: {2) Reduced pesticide use

(4) Soil degradation )
B35 80MT 5y DoBks (GM) Sotetd & oS (FEAE Borsster ol HRs H00ed ? E};{&E‘;
(1) GM &2 m;.;e:&? BE=-J0°HS05G0 (2) DooiLHotse TEE0 SiiGo .
(3) Bed DKo (@) 30§t

(3) Increased yield

88. Which Organization regulates Genetically Modified Organisms (GMOs) in India ?
(1) Food Safety and Standards Authori of India (FSSAT)

(3) Central Pol utlon Contmi Board (CP
(4) Indian Council of Agricultural Resea ICAR)

ESBH08’ e5o5500rT Sty DodS SPpodsfGMOs) 2 Sof oG ?
(1) DE % w08 ouhy weroe «f godat» (FSSAI)
WW
(3) Bo seuty Aabower $00sd (CPCB)
(4) R0GaS TS &b wisess 626, (ICA]

s B

(5] 8]
o5

89. Which of the following is an example of an enmmmnentally friendly technology used in agriculture ?
(1) Genetically modified crops rganic farmmg

(3) Pesticide spraying (4) Chemical fertilizers

Gob T3E° Beranos’ EXMFACS Sogte elosre FSBEEL D8 &07rde ?
(1) e3ogsdon Jrey SodS Sotsed L(2) Soidal SeSaxdio )
(3) DKSotoe B0 (4) Sass J5Ppeo

90. Which technology can reduce the enwronmmtai impact of traditional farming, especially in water
scarce regions 7
((h Drip urigation ) |
(2) Chemical pesticides
(3) Flood irrigation
(4) Monocropping

@3 (8] Sorgsseson © ORI SgSrao %), @'W‘U‘l (Soopsore o8 Bus &3 Srogrod’) Shoise
@ DecBBKs DO 2

(1) Docs ooso ) i&
(2) SIS B0 &»
(3) 555 De3socse o
(4) Der e Sobso 23 s’ Sodotow (33056{«5‘, %50F)
31 .
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91.

92.

93.

What is the primary application of bioremediation ?

(1) Air pollution I iﬁ) Soil comammamgg ) |
(3) Noise pollution (4) Waterborne diseaggg

2BTBREDSE ook, @S WG B8 ?

(1) i srenlgo l izi @s@a"ﬁo 1

(3) ¥y sesgo () 8 oo STy Tgeoes
Which of the following bioremediation techniques is used to treat oil spills ?
(1) Phytoremediation rmloaugmemanon i |
(3) Bioventing 4) Mycoremcdxatioﬁw
550080 Dotseros H DabedS $od 7l D BErTWAEES ag%&mﬁ&& "‘{@
(1) i}m&cﬁ:@é ) OLIe0
(3) 2@Broedoh (4) BFo2wadond
Match the following : (Common codes for English & Telugu Versiorﬁ)"
Waste Type i Appropriate Disposal Method

a. Organic Waste E@ I. Incineration ?

b. E-waste I1. Composting

¢. Hazardous Waste II. Landfilling

d. Broken glass pieces IV. Recycling
S5 O°R) T $35 S'onod (disposal) 3GBE SOFey0d.

58 S¥o Fono (Ghed) 358 v
a. SoBab Sgeren I seso ™,
b. &35 % IL Sorgsmeso Sy J0 Soirt
o Doty (50D %cf?}
C. (DITEES Sgpen L S5 Koot Iredéyio (@505@@053
d. 3A8 e Saofes IV. 536 2d835r0 (5L§cﬁ)

CodesS°Geo: a2 b ¢ d
) n_ v 1 1)
@ v o m I
3) m v m 1
@ v o1 I
32 (A)
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94. Match the following : (Common codes for English & Telugh Versions)

v”s%g

i

Waste Disposal Method Pros/Cons 3
a. Landfilling I. Low-cost, but has iongeterm environmental impact
b. Incineration II. Reduces volume of waste, but emits pollutants
¢. Composting Ifl. Produces useful by-products like biogas, but requires land
d. Recycling IV. Conserves resources, but needs infrastructure

s (&%yub) 350 ogpeoses
a. e50EH00R L 855 655, D BEs-EFogste FEerad) S0 dotuod
b. &mo I 5o S05Terd) R0, D Sos SEFos ose

3@0&)

c. 5030 % M exBrmg Sodd AsErAseos aoasioss &8 o8,
= 8 20 eSS
d. 8280 IV. 5580058 $Sot§od, SR STOK Storalres @sHto
odes/S*Ees : a b ¢ d e
(1) (A Sl S |
@ Iv o m 1
o T 0 1 1V )
@ v o 1 m

95. Which Indian city is recognized for adopting zero waste concept in solid waste management ?

96.

(1) Mumbai

(2) Delhi

(3) Pune .

(4) Indore

508 38 Agred’ (G 3G JoRE3o0ed) Moy Sgpe aqm% (#88° 35 5399) & E;l
BSDOODSOEENTET D grEBD SHEo K00 Toded 2140 E@Q
(1) oo @ ¢§ (3) i3 @) 288

Which of the following is a potential tipping point of global climate change ?

(1) Loss of Arctic ice (2) Redugtion in CO, emissions

(3) Increased deforestation (4) Decrease in solar radiation

0B T’ o et S5 (eod T Soi) s, iR rowoes 58 ?

(1) es0e38 Soowo S 2) CO, &@oo oD

(3) 2BAS et ATy (4) ®5 285m0’ G

33 (A)



97.

98.

99.

100.

The “ozone hole” is primarily caused by the release of

(1) Carbon dioxide | (2) Chlorof luorocarhons {CFCs)
(3) Nitrous oxide (4) Methane

“LE°S Soio” P B e SO Ay 2

(1) s*-‘dr_)rs doﬁ?&é 2) %’6"‘;}:63 se&hoed (CFCev)
(3) BB eBy&E T A

Which International Agreement does not focus on reducing greenhouse gas emissions to combat
climate change ?

(1) Montreal Protocol (2) Kyoto Protocol
(3) Paris Agreement (4) Basel Convention

D 0SB0 L300 TTON STENEm HT G ASTTE T aooros BRosEeD S
8ot ? K
(1) SroEdond @S'sS (2) &S @S5
(3) 0% adyoso (4) 275 3135&\; é
.:'E

India’s National Action Plan on Climate Change (NAPCC) aims to address E 3&
1) Only greenhouse gas emissions
(2) Mitigation and adaptation strategies for climate change

(3) Biodiversity conservation

(4) Air pollution control

TESEs IFEHOD rESR%0 G0y, 2O ey niele) werds (NAPCO) 632 Do BoBko efgor
333355..0@

(1) SR o0 &rore ST

2 o &’D"Oox ?K) 20 €5:30:98: oo
()a“@” ‘oo © 5700 &S585508 S08a0 ek

(3) QJSBL’JQS; a:@cfgfa
(4) T ey Yaoes
(=] e [m]
What is the key characteristic of black carbon that accelerates global warming ? '5%
(1) Itis atype of methane
t 1s a short-lived pollutant produced by incomplete combustion

(3) IL1s relcased by Cres
(4) Itdirectly depletes the ozone layer o ERE
28 S°hS By, 2 Boogy ofeso T ed T8RN JnSoso Jged ? &3 m
(1) q& o 55305 DS

L(2)_30 storg 5580 oo &8 Sabads Srosds seago )

(3) 38 CFCo or0° D50 DoTeosied
(@) 30 3o £.£°8 D60 §elonEinod

34 (A)
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101.

102.

103.

104.

Which of the following countries is/are legally bound bxf?bc emissions reduction targets set by
the Paris Agreement ? Bl

(1) United States and China O Indign

(3) European Union (4) None of these

JOR e:5y080 T50° AGBoBRdS &Te SR eFso §ob 378 20(D) Swegor Stpnd

&0 (&myo) ? %

(1) coBBE He8y S50 T ; -

(3) CBrEbanS Sardes OIS

How many core missions are included in India’s NaﬁmalA%n Plan on Climate Change (NAPCC)?

(1) s Lot ) @1 @) 10

TEE ST GO B SO (SerdS (NAPCC) & ) 35608 DAz (1)
o ?

(1) s C&i ) @) 12 2 ) 10

(1) Rising rates of both infectious and non-communicaislé diseases
(2) Overburdened doctors and healthcare infrastructure

(3) Lack of insurance and financial access

(4) High rates of both obesity and malnutrition

2

EE

o
ot

BerEs08" arBtHo B e “tiotss Fe” D0 2

(1) ot 5080k BOEDOID (T5-E50sdEend) yisd Boorse S6
(2) @ groo &y Bk 3o8aKs &b Stk STOEAGTAtres
(3) Do 0o B eoterts (AUSS) d8ste

(4) Sserseaoo SoBAky ST %50 Bodoed @) s Bew

(1) UNDP Report 1992 (2) World Bank Report 1985

(3) Brundtland Commission Report 1987 4) Riol
o5 B FrSS Dotses O DB6Y orio @iitigo b
(1) UNDP 338% 1992 2) 5503 ot 56K 1985

(3) @oeSergel EDonS 3OS 1987 (4) 6> A0S 1992

35 ' (A)
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105. What isa key goal of sustamable development ? &
> r environmental im aLts; b
uring social equity, economic growth and environmental protection

(2) Ens

ImIting grobal population grow oG
(4) Promoting environmental conservation over all else T BaE
a,a%:j @@;ﬁn)@ a0y, oy Sisie D3 ? %

(1) Sosses Perare ¥ Jovced $eJodB ©ft 5B
[2) TorEs oures0, GBS mk S0t JGROE DOOSEIS HO &
(3) BR08 erer ACOIOS B0NIBC WORO
4) e&i“\ﬁécﬁ Bogsoe BT @RERroiito

106. Which of the following is not ene of the three pillars of sustainabili

(1) Environmental sustainability {(2) Economic susmablhty

(3) Social sustainability () Ponhtical susth
BoB 738" DB oo Busy STt JogTed’ W S ?

(1) Sorgsdes ‘Co?goé (2) &85 ?1:?35@

(3) e YOS (4) Cesal g8

D)
107. How many Sustainable Development Goals (SDGs) has the United:Nations established ? m

@1) 17 (2) 10 3) 12 Wy (4) 20
DEOT B0 Wy iomt BHHE oFress (SRe0d BSeBIooes ﬁsﬁxj‘fSDGen) Doryess Dnod ?

(D 7 . W (2) 10 o (3) 12 W4 20

108. Subject that is not associated with Ayushman Bharat Digital Mission

(1) Arogya Mitra (2) Health ID
(3) Sand Box (4) Healthcare Professionals Registry

a0 e Aeead WieE dowogie B Adgho
1) ghq o {2) Eﬁéef\g ID s
3) Tos P.J"E'\ 4) eﬂﬁfﬁé Sotges ﬁ@m@ 38:{:8
109, Which of the following is true about the “Circular Economy™ ?
%i It focuses on reducing the use of fossil fuels
(

) It promotes the reuse, recycimg and repair of matcrials 1o r;ﬂucmw

It encourages linear economic growtn
{4) It focuses exclusively on reducing carbon emissions EEE

Syarsed esg§ gt (B85 @b A5500) Howodod Eod T35 08 ‘3}250 ? "%2
(1) 30 3z 3oGT 0 W@y BACBEOD G DEBH [ E
Q) 30 Sygess BRosE0d m, DRBOGTO (&@) B0 ;aocs:na@ea,
iﬁ ‘!ﬁv;\iﬁ
(3) 30 56¥ Serasry (D) wBE HBD Feyraged
(4) 30 TGS egoroo Sfoistodd E8gEom Sy 70300
36 (A)
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110. Which global summit led to the adoption of the “Ag
(1) Kyoto Protocol h Summit 1992

(3) UN Climate Change Conference 2015 {4) World Health Assembly 2000

BIEEI 5 S50 8porll 8507340 (s $03e5) “eBon (Sﬁ&@;’n 5638) 217 SoBaiko “OGke 50N
‘iﬁ%!; (OB (H95e3) SETFBoSEDA avaéawoa 9

217 and the “*Rio Declaration” ?

(1) 5 FeS'sS 2) % 325 1992
(3) UN 330¢5 off 575,35, 2015 (8) 568 26 o) 2000

111._Which of the following public health campaigns was iaunched to improve sanitation in India ?
| (1) Swachh Bharat Abhlgan e
an Mantr Jan Arogya Yojana .

(3) National Tuberculosis Elimination Program
(4) Mission Indradhanush

(2) @,?;3":\3 :&o@'ﬁ 23 &5{15 Qao°ess
(3) =BAn Fob TS SEgESco |
(4) D055 OB, ’?-t:i‘

Urban middle-class families
' ural and poor populations o
" ot

(4) Private healthcare providers
esafasS 4GS SresDotorr O S8 a8y Sotieas eoboiito egom tpkod ? i

{1) 52 md&-édﬁé’j E5€2008T 00 G
|(2§ @vw% £5 SO0 DB BTG 1

(3) SAFHEe0 (D0 Hedessy)
"’ ¢§ 22850 F3E8)

(4) 8088 Sowogio 82 &8y detke Prrde

113. Which of the following factors contributed most to the burden of malnutrition in India ?
(1) Lack of access to clean water

oor dietary habits and food Insecurity
erconsumption of processed foods

(4) Increase in environmental pollution EiE
FEEDES” FRTHS &% o WHEVE Bod sorpd: N0 dsySr FrSnied ? '@"ﬁg
(1) BEHRods A eotoerend” S585to ot

(2 a“mééﬁw S0 sow ) S0ws BT ChoE: )
(3) BB T AL wa’) (FFaR) B et wo«m esOEore S8’ sese
(4) Do7gsces SPeode 2 LG

37 (A)



114. What is Digital arrest ?

(1) Arrest made by police when the accused is in foreign countries

(2) Arrest made by police when the accused cannot be arrested physically
3) Arrest made by police when the accused is granted anticipatory bail by courts

I (4) Term used by cyber criminals to scare victims

Ge9e0S 50 e 20 ?

(1) Dodsut DBTes’ &3Syt Fioes Id &3y

(2) DoBBAD FFrogor B BabdSsnE FDisoeo b T

(3) DodBAS S5gen a0ty Bowd FDsSpes Fdkoes Sfo &0

(@) o0 SO FFREOI FOb 2
o . s : @,:u
115. The mission of the Ministry of New and Renewable Energy (MNRE) is r,%&

a. Energy Security d. Edergy affordability O
b. Increase in the share of clean power e. Energy equity
c¢. Energy availability and access
(1) Onlya,bandd (2) Onlya,c,dand e
rmme above (4) None of the above
£7¢ SoBan DISTOTHEE 3058 Soo@8s 2°p (MNRE) &oo¥) ofs0
a. 33 oS 5 d. i_% RS0

b. #5535 (§8) 938 eré’ DoiGe g‘& e %é S b
C. %8 ogid Jo00kw wolioertn

(1) a, b 3odo%o d SrEae (2) a,c,d 50005 e ST
| [EIEER) ) @) D5
]
116._India has the largest installed wind power capacity in the world. i
((0Fourth )  (2) Second (3) Eighth - (4) Sixth
SSo5083er rEsdic B e oSS SIIED SO &b,
() eoiis )  (2) Bois (3) smﬁS (4) e85

117, :::mmmﬁ Satellite Launch Vehicle (GSIV) lainchers have
(1) One solid rocket motor stage, one earth storable liquid stage and one cryogenic stage
( irst and third stage solid rocket motors and second and Tourth stages 11quid roCKet motors

(3) Three liquid stage motors and one solid stage motors
(4) One liquid stage motor and three solid stage motors
e?.di}”n}o %% esaes oo 3056 (GSLV) croists JR88A oerom 9

(3) Sorreio (535 658 Brertsy S50Ba0 &8 o35 5% Brerepe
(4) 28 (533 &% rertis 50D ST 935 &5 ety
38 (A)
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118. BrahMos supersonic cruise missile 1s developed by the joint efforts of
(1) India and USA i

(32) India and France

(1) 288850 50008 o¥0.08.2.
(3) grEsdFo S8 @S 4) W@ o0t waro

119. The terms “Petya’ and ‘WannaCry’ are related to
(1) Mobile apps l (2) Ransomware (3) Virtual reality (4) Mini Satellites

ey’ Sobain ‘TS ¢S Soves A8 Sowodedsa.
(1) 388 ebeo [ (2) oonassd 3)

S 0O (4) DT3B,

120. CITES (Convention on International Trade in Endangaa:d Species of Wiid Fauna and Flora) is
also known as ap

(1) Geneva Convention 2) K Protocol
fashington Convention (4) Paris Agreement
CITES O (5080002808, esotioeroo dahs 3§ erdood” eosgiad mreleso 2 Sirdo) 3o e
(1) 8D fm:”ﬁ%o ) S5 @S’sS
m) PO D 4) 3‘5& &aboéﬁo HiE
121. Which of the following chemicals was released in the E 0 Egﬁé

(1) Chlorine
(3) Ammonia IO
& Bob Srahmred’ 1984 & §'d 25898’ Desoes

(1) 68 2) :3.5;33 22365 (MIC)
(3) “AFROL® 4) Ewud :sg&

122. Statement A : Natality refers to the birth of individuals in a population.
Statement B : Natality rate is expressed as the numbrr of individuals produced per female per
unit time.

(1) Both statements A and B are true
statements A an are SC £
(3) Statement A is true, but statement B is false £y
(4) Statement A is false, but statement B is true i
TERgRe A 1 eSS0 w38 worers’ 55553;383 IPERY _ged. EiE
areie B : o8 Qrved B500%08" 2.8 & & Kool &S Beeds B5500 SoggT ey e {?ﬂﬁ

$cdBoNantiosood.
(1) Soto
Ol WTRETGIT00
(3) Tgargiso A BTG, SV TgRsso B 83y
(4) Tgargso A Sdy, 2 Fgargoo B “ﬂax;&s
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123. How does In-situ bioremediation differ from ex-situ bioremediation ?
[t is more expensive and involves transport of contaminants

(2) It treats contaminated material directly at the si¢

uses chemicals msi€ad Ol MICTo-01gd! 1S
(4) It requires more excavation
B5-De BETBAGNS, Iy-ew e S sbod Horr Jo° 6i0tnod ¢

(1) 38 e pHBSO SoBckn Sesdpre dereiss SOA dotod
PSS ES 5@@@

(3) 30 JrEEDOL el dgﬂo‘bme)m 53T

(4) B8 5oB08 &S50 wsNto

124. Population density is generally expressed as
The total number of individuals in a population
¢ number of mndividuals per unii arca ;

(4) The number of individuals within a sample aréa
sEr FPoss FrroT gur SEE0oneEed
(1) smrerd Sogo S50 oy

[O) 00 EroBod & wga0 ~opy )
(3) esTrer G30F), ﬁ“f?@é IS L.
@) SS57T PoBosD ke Bopg

125. Disease transmitting vector is not a Mosquito for whit
(1) Chikungunya [Trmg_] (3) Dengue (4) Malaria
&b T3E B3 o0 e SR TR 20 ?
(1) DBSKTg ' PSR (3) Gonry (4) So88a8>

126. What is a global issue associated with the trans-boundary movement of waste ?

g R e SO solisd & (5501 Ry 2l ¢ %ﬂ
(H @6“523’5“% a0 TD?{)Q:S“G éf;o@ ¢ [

(3) S60 D80 S00CD S OBOEI0 ©
127. What can be considered a natural source of air pollution ?
(1) Factory emissions {2);%;?“’61‘ station smoke
(3) Forest fires (4) ~Automobile emissions
PO SE0g0 Cas), e mareo el SRR eSiy

(2) Ro30R03 %c—-e DocTE?
() sedon 8 ﬁﬂﬁ%m G T ORon B0 Sa0e0 ]

(1) P55d dxgses (@) 555 55
(3) @& Sootoen ) (4) T8 does
40
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128. Autonomous institute under the Department of B
{1) Central Food Technological Research Institu
(2) Central Glass Ceramic Research Institute

|mentre for Innovative and Applied Bioproce

mxﬁm- and Molecular Biology .

G>Eo0es ©h adrasyed (DBT) @ois @5m (BSE Ko Hoi) (erSuod 3dyeargel) P
(1) 2od HE BseRsd S0y aderyes
(2) 2oed o ?owmg 8 ED aSMés
(3) 203d $O ¢ 5 %
(4) 2oexb 36 mws @o& ;53”33535@5 zaoim‘é

129. Match List— 1 with List—II and choose the correct answer using the codes given below. (Common
codes for English and Telugu Versions)
List — I (Emerging Technology) List — IT (Scientist)
a. Artificial Intelligence . i

b. Open-Al
c. Internet of Things (IoT)
d. Augmented reality
Do — 1D oder — 11 8 $56Fey0d $o0a%0 Eoss s}:)J;s SEox SSBIROD 533 HIFTIR)
JdooE'od.
o - I (A5sQeh Syes) S I | | (%‘gﬁwﬁ)
2. §B% S I 325 e
g D &3S Al(Open-AD L 5
e C. 3oedyed & §ofy (IoT) M. s
d. esRyoBE Bokrded IV, woed g
Codes/8*&e : a b ¢ d

1) I m v o
2 IV 1 1
G Iv 1o I
4) 0 v m

130. Radio Astronomy center is located in

(1) Trombay (2) Ahmedabad (3) Dhanbad (4) Ooty
BB pR'Y 73 Soso MK &ob 9
(1) erod Q) esmoerd (3) &5ers 4) &aed
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131. Assertion (A) : DHRUVA is India’s largest nuclear research reactor.
% Reason (R) : Advanced Heavy Water Reactor envisages large scal@%ﬁitzatzon of plutonium bearing
o} :

spent fuel. .
(1) (A)and (R) are correct and (R) is the correct explanation of-i&)
{2) (A)and (R) are correct but (R) is not the correct expianauon of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (ﬁ) 1s correct
55 (A) : DHRUVA 836 5ro83% 08 ¢ e $08°65S dair§s. -

Tee0 (R) & @tomrss 270 5768 00irgh s abe &%) piy 208 R0y D A8 Eﬂ%
DIGTADCR.

(1) (A) S08axs (R) 5332 S0dcko (A) 8 (R) 538 2568
(2) (A) 53800 (R) 5352 &0 (A) § (R) 1¥85 50 5°¢0

(3) (A) oam = (R) 3‘6& ola b

132.

(4) (A) rag:sa St 0 (R) 5050

Assertion (A) : National Biofuel Coordination Committee needs-to approve use of surplus food
grains for production of ethanol for blending with petrol.

Reason (R) : Farmers are at risk of not getting appropriate price for their produce during the
surplus production phase.

(1) (A) and (R) are correct and (R) is the correct explanation of (A)

(2) (A)and (R) are correct but (R) is not the correct explanation ef (A)
(3) (A) is correct but (R) is not correct :

(4) (A) is not correct but (R) is correct

s50ssa 82008 esArBeT mﬁw
Ttso (R) : Dores &S 585" Dot i dthdont 335 58 oo BS5rdo &ob.
(1) (A) 5508050 (R) 80352 S:0uis (A) § (R) 585 58es

(2) {(A) 882 (R)S %325“3 =0 (A)S(R) 3’36?6 25883 B0

(3) (A) «30:}@ S (R) u:}:‘\/)@ =0
(@) (A) 5356 60 5D (R) 5030
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134,

135.

136.

Lodeq for English and Tel’ugu Versxons) 3
List - I (Solar Park) - List-11 (Capgﬁty in MW)
a. Hybrid Solar Wind Park Ramagiri I 10600 -
b. Ananthapuram-I Solar Park _ It 160 £
¢. Kumnool Solar Park 2 m 1500
d. Ananthapuram-I Solar Park ® V. 500

e 12 e - 11 § 56Popd 5babo Sols 3 's*&esm E5GPhod $BS BTy
Jo5:8%8

2G/202

wdoe - 1 (Feb ) @'@
a. 00R0 A& Ferd Jo& 6, -
b. eSctsptio-l Fed 2§,
c. Biyeo Pl 6
d. esospse-13 Ferb =5,
Codes/S*Ees : a b ¢
() 11 I Y
(2) 1 il 11
3) v I I
@) T T
o
Project that is not associated with International Solar Aii{;;ice (ISA).
(1) ITEC (2) ISTARC (3) OSOWOG (4) KUSUM
3065y358 FerE wodhey (ISA) & Somoie 80 @85
(1) ITEC {2y ISTARC (3) OSOWOG (4) KUSUM

(4) Kamataka

B
State which is the largg; : jnd energy in India
(1) Andhra Pradesh| (2) Gujarat (3) T
rESBHoS” citdY B85S ¥5 &HO TS UFRo I8 ¢ o3
(1) wospsds (2) Hoesoee (3) SoFoco (4) sgpex

{ hoose the corrcct statement

(2) Archeaarea type of producers who use enezgy from chemical compounds

%
(=

R (1) D63 50750 555087 G558, Bnges adBiortes
[2) &s&& Vﬁa cs%am BT 000 Fan) GRCITNOWE

g

{4) The stability of ecosystem depends on consumers
;5085 (35005 JosEod.

KRS S PTres

4 30'59358"‘ DSy GB0%), g(ﬁ@& dei}“ﬁmma weﬁ“& &0t
43
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137. Match List — I with List —II and choose the correct answer using the codes given below. (Common
codes for English and Telugu Versions)

List - I (Biotic factor) List - II (Characteristic feature)
a. Humans EzE I. Recycling nutrients
b. Saprotrophs g& II. Top order heterotrophs in food chain
c. Reptiles _ I11. Less urinating animal
d. Camel IV. Stenothermal
e —1 8 wdoe - 11 5o 5029 G axodys S&us &3@ricd $3% MIrged) Joslod.
widee - I (2ares8 F550) wdee - 11 (105 0Fro)
a. SrNdHeo EuE 1 Pdsod Bzegéoﬁ 3025.)020
b. 3™ E'g% I es388 Frenkod® el &6 B0 Hew
c. 03y (Reptiles) [L o3 S0 DD Be> 22083
d. 208 V. 3556
Codes/5*&es : a b ¢ d

(1) v m 1 1
) 1 I m I
(3) 1] T IV I
@) v N T

IWM between troléifés and polar region

(1) Temperate deciduous forests (2) Coniferous forests

S lan (4) Scrub jungles

asiose 00K (3 Bromre S Ko M SFod (roTred’ &) e
(1) mm%@‘:geawéi Do (2) Forsd ecHe

(3) e gswven - 4) &g &f&:’@@o
139. Assertion (A) : Grazing food chain begins with dead lea;ﬁ*i;é via herbivores to carnivores.

JJJJJ

o

T

Reason (R) : In grazing food chain autotrophs capture energy and transfer to herbivores.
(1) (A) and (R) are correct and (R) is the correct explanation of (A)
(2) (A)and (R) are correct but (R) is not the correct explanation of (A)

3) (A) is correct but (R) is not correct
(4) (A) is not correct but is correct
00 (A) T 08 G0 oo (0N D& o) SDFous Sed (FSofia Tt Kok

S0 (R) : 5o a5 Feond® efes oo 12 toftrod Tsiries abd 33aw. %
(1) (A) 308cko (R) 535D 3o0ak0 (A) & (R) 583 25, -,

(2) (A) 3005 (R) 535D 5°0 (A) § (R) 335 D56e2 °60

(3) (A) 5358 52 (R) 3338 %0
e s
(@ (A) 5556 6 =20 (R) 5858

e
=
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o Sulphur cycle  }(2) Nitrogen eycle
25 S 5 So (5es Besorge

(D K}QSS 3o 2) Q@Ssas.s S0 3) ﬁ%sdo Sio 4) s@asko SEo
141. CR in TUCN red list refers to @-ﬁ
(1) Extinct in the wild & (2) Critically extinet

(3) Endangered (4) Critically endangered
IUCN 2503 erfeé” CR 320 8023908 ¢ ad
(1) 636" eoddodFou0d [EF
(3) woBBolArduTow

S

142. State that produces highest solid waste in India .

[ (1) Maharashtra J (2) Andhra Pradesh  (3) '{}tfar Pradesh {4) West Bengal
FOBRHS” ©B8BE 308 Spess &8 I oo

(1) sy (2) soRdeé (3) &85 HBE (4) S8 Sorrd
_ i =

143. Match the List — I with List — II and choose the cﬁm:ct answer using the codes given below.
(Common codes for English and Telugu Versions)

List -1 EE List
Type of Solid Waste e 7 Fun
Management
a. Incineration L. Conversion of recyclable waste to carbon based fuels
b. Pyrolysis I1. Process of burning waste
¢. Plasma gasification III. Exposing waste to extremely high temperature
d. Composting IV. Process of dec@i;ng organic waste biologically
e - 18 erdor - I 5o 0259y Bots coodys S'GuRS &3ErRod X33 SErrady Jodfod.
SAl e | wé}w%-y@
OE I Dsgees 8% Po¥S o
a. &350 I DSORBERSCIEAS Syroso S eserds g

% Srtgytso

b. 2E°0% 1. Ssrose 528 @Hgad

c. iy mehednd . Sygess esRSarss Kodabto
d. So2Ffoh IV. Sofion sgredh dsegssonr §elondh pmdan
Codes/S*Ees : N .

(h IV I I 445
2) 1 I m IV
) T - 1 IV
4 IV m n 1
45 (A)
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144, Which of these is not a biodegradable waste ? 7y
(1) Vegetable peels (2) Fruits (3) Waol (4) Tin
2e36° 56 wrfoarE $80sED (adrdfitiend) Sggo 89,9
(1) &Crah %0 (2) Jo (3) &3 (4) $r8o (639)
145. Reason for the melting of Gangothri glaciers of Himalayas
(1) Global warming (2) Chloroflourocarbons
(3) Particulated dust (4) Green house gases i E.:IE@

Irsroaires’ HoR' @ Srarbicres SOASFSERS stese |

(1) w05 5o (Rwé 7000 )

146.

147.

(3) TOssBBE SoBay (4) a,sw mmsﬁ)m

Pollutant produced by vehicles that reduces the Oxygen carrying capacity of Blobd.

(1) Sulphur gas (2) Carbon dioxide (3) Nitrogen oxides [ (4) Carbon monoxide

TEre ONO° & Tabeds O el B8 850 nﬂwég_&&asé 30 ogegRy BARD 2

(1) S Tand  (2) TS SIS &, 3 w@ﬁsam T e¥es) (4) s mg&

Assertion (A) : CFCs are greenhouse gases that con
radiation on earth.
Reason (R) : Chlorofluorocarbons (CFCs) are man made gases used in refrigerators,

air conditioners and aerosol sprays.
(1) (A)and (R) are correct and (R) is the correct explanation of (A)

[ (2) (A)and (R) are correct but (I-{) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct A

(4) (A) is not correct but (R) is correct

85 (A) : CFCo ASTTD Troodes. g2 Irersces wﬁi%&s; Eitio Sax SoBco TR >
UV 8AG30555: podoaran,

seso (R) : ST S0 (CFCe) 8p@tents, Joxd Kol Sodate TS ;;mes* -,:%’?
EIBINOD S5 DBy TADeD. -

(1) (A) 5005w (R) 3B Sodakn (A) & (R) 3355 D5bes

(3) (A) %338 =2 (R) 53O ¢
(4) (A) D58 s°e s (R) ¥8:50

46 (A)
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codcs for Enghsh and Telugu Versions)

List — I (Pollution) e  List—=TI (Pollutant)
a. Marble Cancer I. Methane
b. Biomagnification = H. Nickel
t. Green house effect III. Sulphur dioxide and nitrogen dioxide
d. Lung cancer IV. Chlorohydrocarbons
e - 18 erder - 11 5 3098 oS oy S'Eeih $5@FRoD 383 SSrgody Josslod.
ez — 1 (SPenisge) AT, | | (mag%‘&%}
a. m&)&\lé 5“55’35 EaE I 51)2{35
b. DAFETANES % 1L 236
c. AS 5% Hgrso ML 505 Ear$E Hoboko Jeesd Gair$iE
d. &d0d%e 5555 IV. §6%r@ s
Codes/S*&es : a b ¢ d ¢
()  m v I I B
2) I I v I &
(3) IT I I v

@ IV m u I

149, Choose the incorrect statement.

1) CO, is continuously being releas
(2) Deforestation is decreasing the amount of CO,
il spillage causes oxygen depletion and distress to aquatic animals
(4) Burning of plastic reduces the germination of seeds in crop fields
By (P50 JoissEed.

(1) 5555 se5g8erdre seson CO, DSosso sxse Iaesssod

(2) &t Ao CO, oomdh $A00
(3) 80080 Dotstro S esdyess 8 eOBC O cened Seolbieod
(4) 5% oo Sg Sok ;3“@65 e JoesYtio eﬁ?;?&)oﬁ

O]

150. Anganwadl worker is a functionary of which scheme ? :

(1) ANM (2) MMU 3) Icnﬁ_'f (4) NHM
SONSTE SEEGE Bowoods BEso D8 »
(1) ANM (2) MMU (3) ICDS (4) NHM

47 (A)
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